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2N 252
M NESSHMEEE
ool 2SS (69 &2
- _ _ NUE &
SN-FH-SA(SA) - NEAY - BES Off & OH 01,‘;5‘; HnsZ
202 01t 9,320 10, 150 9,170
01 =Uy0i ] 9,320 10, 150 9,170
Nests ARE 70,0002 *62 x293l 12,180
NESAES HIIEY L SNLS 70,0008 %62 *173] 7,140
306 £013 7,000 0 7,000
01 2013 7,000 0 7,000
NESHXEI2ENS 7,000,00024 7,000
e 64,440 157,204 £92,764
201 LByl 14,440 55, 104 40,664
01 Attt 7,440 15,060 A7,620
PEIEIES=1 7,440
2)2EER B0t A 2,040,00024 2,040
)23 EBE 25 M 3,000,00024 3,000
DBESIRN I 2,400,0002 2,400
03 A2 | 7,000 30,000 23,000
1) 250 = 8 ALE| 7,000,00024 7,000
307 QI2H0IH 50,000 40,000 10,000
02 PINBABE 50,000 40,000 10,000
NAHSHEstD SN 20,000, 0002 20,000
NASHECH ZAXL 30,000, 0002 30,000
LSS ALK 201,100 561,113 A360,013
= 33,000
= 35,000
2 133,100




2A: 2322t
HH: HESMSTE
o 23o=2SKA (el =
SA B E(E) - HRAY - HAS Off &b o8 e HIDE 2
307 QI2told 201,100 265,700 A 64,600
= 33,000
& 35,000
= 133, 100
02 QB AEXR 201,100 265,700 A 64,600
M3 Hol=0=H (L )&t 25,000,000& 25,000
NH3B Hol=0=H(HAaE)EIt 25,000, 000& 25,000
NAEEW A&H L 23 HAXA 7,000,000& 7,000
NEXE RESsM & 4=HIX& 52,800,000& 52,800
& 26,400
[ 26,400
N&0IeE 2ES 10,000, 000& 10,000
& 5,000
= 5,000
NE LE2SM SHAE X 4,800,000& 4,800
& 3,600
= 1,200
NAgesa X 68,000, 000& 68,000
= 29,000
= 39,000
1238t eI 6,000,000& 6,000
= 3,000
= 3,000
Ngwizd X 2,500,000 2,500
= 1,000
= 1,500
| AL 102,300 456,700 A 354,400
201 etgH| 2,300 11,700 29,400




fA: 2at2Z
M MEEM=LE
Chel: Zotisasid (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
01 AtE22lHl 2,300 11,700 29,400
1Yt~ 2,300
)L B LAY =X &40 WA 300
2)EEB+F0 2eld 1,000
2)UEBII ALY I} &2t 1,000
307 GI2+0I A 100,000 110,000 A 10,000
02 BItAAE X 100,000 110,000 A 10,000
NotS0ls ZZ2XNE(2SFES2) 100,000, 000& 100,000
)| Ol=2 28 1,700,000 0 1,700,000
= 1,700,000
401 A &HIL 201 1,700,000 0 1,700,000
& 1,700,000
01 Al&H| 1,695,750 0 1,695,750
NAEI0I=2HE AL 1,695,750,000& 1,695,750
= 1,695,750
03 AIZ20i4l 4,250 0 4,250
NYEI0=2HEAIS R 4,250,000& 4,250
= 4,250
H=HEXTHAMY 340,000 167,000 173,000
= 340,000
401 Al&HI LS04I 340,000 167,000 173,000
= 340,000
01 Al&HI 337,858 167,000 170,858
NH=2XNUEXS MY 337,858,000& 337,858
= 337,858
03 Al£=R0iHl 2,142 0 2,142




fA: 2at2Z
M MEEM=LE
&el: 2soi=2sSNR (chel: &3
- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2
NU=EXNHUEZS AIY 20 2,142,000& 2,142
= 2,142
A Z2st0lzn =S8 A 35t 30,000 30,000 0
= 15,000
= 15,000
307 QI2t0IA 30,000 30,000 0
= 15,000
= 15,000
02 QltaaEx 30,000 30,000 0
NAMs2sttlzns 8435 30,000,000& 30,000
= 15,000
i 15,000
PUHSHHSHMEXAAMNI 26,000 32,000 26,000
P 13,000
= 13,000
307 212t01& 26,000 31,400 A5,400
P 13,000
= 13,000
02 2ItAASE X 26,000 31,400 25,400
NRUSAXSH X2 ALY 26,000,000 26,000
P 13,000
= 13,000
stwo 2atlizus 243 104,700 32,150 72,550
= 21,600
Jl 43,000
= 5,600
= 34,500
307 212t01& 104,700 32,150 72,550
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S 252D
MM MESS S
cHel: 25 E R crel e
- _ _ NUE
SH - EB - S(BH) - MBAY - BES arey Siatel ==ET
2o HSE 22 X 44,780 45,730 950
= 26,868
2 17.912
201 Ypre | 44,780 45,730 A950
= 26,868
2 17,912
01 Al2 22l 44,780 45,730 950
NECHNBE Y SosSE Y| 44,780,000 44,780
= 26,868
2 17,912
23S 2| 737,143 878,000 140,857
= 357,000
[ 154,043
2 226,100
307 PI2H0|& 60,000 0 60,000
= 42,000
[ 5,400
2 12,600
02 SIFAMEE 60,000 0 60,000
NAIOHE ST HIZAE BIAIX| 30,000,000 30,000
= 21,000
[ 2,700
2 6.300
NAGRAZE HIZME AT 30,000,000 30,000
= 21,000
[ 2,700
2 6.300
401 Al&HI L2 677,143 878,000 200,857
= 315,000




fA: 2at2Z
HH: HESMSTE
ol s el e
SN BB SR(S) - MRAY - BES skl e s
= 148,643
= 213,500
01 Al&H| 672,287 871,700 A 199,413
N24A TISA oA 128,830,000& 128,830
2 64,415
= 32,207
= 32,208
NEZEYZ B X 354,465,000& 354,465
= 248,125
& 31,902
i 74,438
NEFel “HS8 il 20,000,000& 20,000
L= 14,000
i 6,000
1) = OtAF =B EHIALY 138,992,000 138,992
L= 69,496
= 69,496
1ot glel nolsE 3 15,000,000& 15,000
NXESEW &2 FSHEHIA 15,000, 000& 15,000
03 AIZ R0l 4,856 6,300 A1,444
N3LAF TS S 20l 1,170,000& 1,170
= 585
= 293
= 292
NETEYZ ESHA 2,678,000& 2,678
= 1,875
& 241
i 562
1) BtAF =B EHI 20 1,008,000& 1,008
& 504
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fA: 2at2Z
Hu: BUNE
ol 2ALELLFHAAXE (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
Jl 260,000
& 90,750
= 1,002,007
HdBEE HRFA 16,480 0 16,480
201 B3| 4,650 0 4,650
01 AtR 22l 4,650 0 4,650
1)et=2H] 1,500
INREE 7 1,500, 000& 1,500
DEEL] 3,150
Q)ZFAE J2FF AL 7,000+3E 150 3,150
202 O4Hl 11,830 0 11,830
01 =W 11,830 0 11,830
NS U A 2Z2ESH &t 70,0002 113/ 1,540
nNaZaorEs g Bix| 0t 70,000+ 28 11 1,540
Uittt geretsl &ot 70,000+3H «5 1,050
NEEN &It L ALK 70,000%3H 12 2,520
NEZAE EEXE 70,000%2H *133] 1,820
NAS FHEY L N2 70,000+3ZF x16 3,360
2BNOGEY 99,609 206,815 107,206
101 14| 23,129 11,565 11,564
04 JIZtMIZ2XsE =+ 23,129 11,565 11,564
nNaZotA =210 23,129
2122 35,000 x2H 200 14,000
2)012¢ 7,000,000% x22H x1/3 4,667
2Nzt 6,560 *2H x10Al 2tx 102 1,312
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SN 2522
M 2y
Gl 2ALESUEH ALK CHe A
_ NE —
SRS H) - MEA - A oH 07|/‘\_|'0H =&
= 90,000
02 ClztA A 180,000 200,000 220,000
1)4lQF 24 2l 180,000,000 180,000
[= 90,000
= 90,000
S3}2ZHEINSLEXNH 45,750 39,250 6,500
p) 10,000
[= 750
= 35,000
201 ety 5,750 10,250 24,500
[= 750
= 5,000
01 AIRZ2 5,750 10,250 A4,500
)22 ol 5,750
< 750
= 5,000
301 LEtE A 40,000 29,000 11,000
pJ 10,000
= 30,000
10 SAIAHIEAZ 40,000 29,000 11,000
122 WA =Y 20,000,000 20,000
1232 ZHSA 2EH 20,000,000 20,000
pJ 10,000
= 10,000
SZAMEIXH 1,010,918 1,391,565 380,647
) 250,000
= 760,918
201 Ypt2y 60,000 50,000 10,000
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A 2ot
Mo pPHE
ool ALEELF AL (&9 EH
- _ — P
SN HY-S(BH) - NN - BLS 0fl &t e HDE2
p) 30,000
= 30,000
01 AtS22itl 60,000 40,000 20,000
NEZAE 222 Wz 40,000,000& 40,000
D) 20,000
= 20,000
NAICHHHME - SZAEIMIE 2HEHRIZ 20,000,000 20,000
D) 10,000
= 10,000
307 12+0IH 360,000 280,000 80,000
Il 120,000
o 240,000
02 It a2 x 360,000 280,000 80,000
1)EEAEl ¢35l 20,000,000& 20,000
NACHHHHME - S2AEIME Q124H ¥ 2| 100, 000,000& 100,000
1NEZAEIHEH 22 16,000,000 16,000
Il 8,000
o 8,000
NEZAE AIRZE &St 24,000,000 24,000
Jl 12,000
= 12,000
NEZAE FEARS X2 20,000,000 20,000
P 10,000
= 10,000
PN Rt =2 10,000,000& 10,000
) 5,000
= 5,000
1EZAIE #=HE 30,000,000 30,000
D) 15,000
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SN 23
HE: HBUNE
ool RBERUSHBANR (S &2)
_ _ _ HEc -
SH - EB - S(BH) - MBAY - BES 0l & 24 Sl BB
= 15,000
EZAE ST A3 30,000,002 30,000
| 15,000
2 15,000
NESZAE 2% 2 2522 HEA 29 20,000,002 20,000
| 10,000
2 10,000
1)ZZAIEl 08 GIOtAIAE T272 e 10,000,000 10,000
| 5,000
2 5,000
1)Alo M ChE AN 20,000, 0002 20,000
| 10,000
2 10,000
NEZANE ZE 29 20,000, 0002 20,000
| 10,000
2 10,000
NEZNE =€ H2S%3 29 40,000, 0002 40,000
| 20,000
2 20,000
401 Al&HIL 20| 55,000 940,000 885,000
01 Al&H] 55,000 933,610 878,610
NEZAE MHEHSBHER 25,000,002 25,000
1)0ark Sky i &AMl (Ot2 S & HI) 30,000, 0002 30,000
402 RI2AX 201 535,918 0 535,918
| 100,000
2 435,918
01 pIZREEE 535,918 0 535,918
NEZNE SSH2 ATE HBAILX 100,000,0002 100,000
| 50,000
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Sstar& it
dy2IPH (2220
Jl23 Ctel dd)
CERI(BI) - MRAR - A Lo e 52
NeEA23EY 350,000 x12& 4,200
Hees(Ss2&n) 500,000 300,000 200,000
LHEAHHXI = 500,000 300,000 200,000
LIS AcH X = 500,000 300,000 200,000
02 JI=sdES 500,000 300,000 200,000
01 JI=sd&Es 500,000 300,000 200,000
Naletz 203 500,000,000 500,000




